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/ cothx cosh x

——dx = dz : J=d|
Vsinh?z — 4 sinh 21/ (sinh x)? — (2)2 .

1, (sinhz n
= —sec e c
2 2



Ll Sy 2810 Vsl 24 O

L W1 Jlgo)) linie ol 1
(1) f(x) = sinh (e**) (2) f(x) = cosh (lnl\m|)
(3) f(z) = tanh (sin"' z) (4) f(x) = se -
(5) f(z) = csch (2%) cos3z  (6) f(z) = (tangl\f—i- coth f)
(7) f(x) =1In|cosh (z*) — 4%| (8) f(x) = esinh e

P AW oMY ! 2
e’ sinh (5 — e** /COSh 1n|x\

sech? (%) sech\f tanhf

/

o [ e w
/
/

coth (sin ) p ecosh 3”
———dzx

5seche ginh o sech4x tanh 490

cosh? z 2+ sech4x

h2
(9) / La; dx / dx
4 4 coth” x cschx — cosh2

X

secx / csch3:r




61 LS w13 Jyd) 2.4
LSl L3I Jlgd! 2.4
s a3l ! 10 Sl DI (1)
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